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PART - I (Marks 14)

MARKS: 100

Choose the correct answers: 14'%1 =14

Q. No. Option Arswer
1 C {4,9,25,49,121}
2 a m"  (Creative)
3 Cc 0<r<b
4 a 0
5 b 5
6 d row matrix
7 b point of contact
8 d 7x=3y =0 (Creative)
9 b 1
10 d 60°
11 d 136 7 cm’
12 a :,

3
13 a P(A)>1
14 d il
5
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PART -1l [ MARKS :20]

Answer any TEN Questions [Question No. 28 is compulsory]. 10x2=2
Each questions carries 2 marks. 0
15 | B={2,3,57} 1
Ax B ={(12),(13),(1,5),17),(2,2),(2,3),(2,5),(2,7),(3,2),(3,3),(3,5),(3,7)} 1
16 | fog= flg(x)]= f(x°=2)=2(x*-2)+1=2x"-4+1=2x"-3 .
gof =g[f(x)]=g@2x+1)=(2x+1)°-2=4x"+4x-1 1
171« 532=21g+r = 532=21x25+7 1
. Number of completed rows = 25
1
| Number of flower pots left out = 7|
18 3 2 ¥ .1'3 Y .1,3
+ = — =
X—V ¥V—X X—y Xx—) v o N 1
(7 y) (X +xv+H)
X~V
3 3
X ? 2 2 1
! + J =X +xv+v
X—y ¥
19 (5 3)
AB =
) '
4 2
B A ( ) 1
L5 10J
. AB = BA
20
By ABT, BD = ﬁ (or) i—i 1
DC AC 3 AC
9 1
AC =—=45cm
2
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21 v, = 1 3—-a -1
= —— (or = — 1
17 1
6-2a=-11 = |-~a=—
2
== . m, =—=—2 a,=1,b =-2; 6 =0,5 =
m, 5 y * 3 3 1 1 1
1 (or) aa,+bb, =6—6=10
mlxm,_,:;x(—'l):—l ) )
; “ _ The lines are perpendicular. 1
The lines are perpendicular.
23 . AB
T S ISR 5043 .
BC v3 d
" 1
d = S03xJ3 = 50x3=150m.
24 3 3
L _[1]3:64 :
v, % o3 2 7 343
] 1
.. Ratio of the volumes = 64 : 343
25 . - ! :
C.S.A. of the frustum = (R + 1) / 5q. units 1
22 550 ) 1
=—XM4+D) x5 = =78.5714....=78.57 cm”
-
” Largest value L = 28; Smallest value S = 18
Range R=L-S
1
R=28-15 = 10Years.
Range = 10 Years 1
27 Total number of flowers = 80+70+30=200 1
n(S) =200
. Cppy 80 _ 2 1
n¥)=80= - P(.{j=m_ 5
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28

\/;,2 2,3V2,4 2,5\/2_ ...............
SRS N - -SRI oY N -
SN~ - Y~ -~ -y

Lt-t =t -t =t -t =t —t, 1
The given sequence is an A.P. 1
..Common difference = \/2_ (Creative)
PART — 111 [ MARKS :50 ]
Answer any TEN Questions [Question No. 42 is compulsory].
Each questions carries 5 marks.
29 1
A={1,2,3,4,5,6,7}, B={2,3,5,7}, C ={2}
LHS :(An B)=1{2,3,57} 1
(AN B)xC={(2,2),(32),(5:2),(7,2)} coerrrrrrrrrs (1) 1
RHS :(AxC)={(12),(2,2),(3,2).(4,2).(5.2).(6,2),(7.2)}
1
(BxC)={(2.2).(3,2).(5.2).(7.2)}
(AxC)n(BxC)={(2,2),(3,2),(5,2),(7,2)} ivecvrrrrrnn. (2) 1
(1)=(2). Hence proved.
30
f(2)=0.f(H)=1Lf(6)=2.7010)=4./(12)=35 1
(i) Set of order pairs :
f=1{(2,0),(4, 1), (6,2),(10.4), (12, 5)} 1
(i) Table : X 2 4 6 | 10| 12
fx) 0 1 2 4 5 1
(iii) Arrow diagram : A B
f
= 1
—
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(iv) Graph
I-.lllI
19
18
15
T a9 *m.s 1
_.4 *
13 (6.2
12 @0 .
+1 (2.0 .
* 1 1 3 4 5 6 7 8 © 10 1l 12
31
113400 = 2 x 2 x 2 x 3 x I xFIxIxhxbhx7 1
113400 =23 x 34 x 52 x 71
p,=2,p,=3.p,=5.p,=7and 2
11=3 X, = ..1'3=2 14=] 2
32 N nn+1)(2n+1)
2N = 1
6
GHTAE e ¥ W = (P G TN, A2 (P42 s ¥ 5) 1
B 21X 22 43 Sx6x11
6 6 1
=3311-55 1
B+ TR+ 8+ +217 = 3956 1
33 (2-2+0 -1+8+2) (0 9)
AB = -
L4+1+o —2—4+2J Ls —4J 1
Ag) (0 5 B
S I 1
(AB) Lg _4J 1
(1 2)
S T AT D 2
B:Ll . ZJ;A:Z ~1
{1 1
. . (2-2+0 4+1+0 ) (0 5) 1
B'A :L J:L J ------- (2)
-1+8+2 -2-4+2 9 -4
From (1) and (2), (AB) =B'A’
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34 | Statement 1
Figure 1
Given, To prove , Construction 1
Proof 2
Note :- If No figure then only marks allotted for statement

35

1/-4 -3 3 2 -4 :
— =28 sq. units 1
2|1-2 k& 2 3 -
1 | 1
E[(—4k+6+@—4)—{_ﬁ+3k—4— 12)] =28
(dk+6+9-4)—(6+3k—-4-12)=56 1
(11 —4k)-(3k-10)=56 1
21-Tk=156
o Tk=-35
L k =_95 1
36 at+b=7 =2b=7"a 1
AN AR RN NI A —— > (1)
a p a T—a 1
line pass through the point (—3,8),
—3 8 _ - ~
—+ =1 = -3(7-a) + 8a = a(7-a)
a T—a
0’ +4a—21=0 1
(a=3){a+T7)=0=> a=3 or a=-7 1
Since a 1s positive, we have a = 3and b =7-a=7-3 =4.
T, Y _y (From (1)
3 4
4x + 3y — 12 =0 is the required equation. 1
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37 ,
sin’® 4+ cos® 4 N sin® 4 —cos’ 4 _
sin 4+ cos A sin A4 —cos A
(sin 4+ cos 4) .(5i111 A—sin Acos 4+ cos’ .»1]
B sin 4+ cos A4 2
(sin.4—cos4) .(51'112 A+sin Acos A+ cos’ 4)
sin.4—cos 4
=(l—sinAdcosA)+ (l+sindcos A) 2
38
For Cylinder,
Diameter = 3 cm |, Radius = % cm =15cm
Height of the Cylinder &y =12-4=8 cm
For 2 Cones, Radius = % cm =15cm
Height i2 = 2cm 1
". Volume of the model = Vol. of Cylinder + 2 (Vol. of Cone)
2k 22125 ] (250 _22 3 3 2]
=areh +2 zar<h, | =gri|h+<h |=2&x2x2 £
A 3 hz T :khl 37277 XEXEX[S_FS(E)J 2
3
.. Volume of the model =%XF?E-!= 3I3x2=66 cm 2
39
R=16cm ;r=2cm
_Volume of metallic Sphere
Volume of Small Sphere 1
4/ 7R3 3
n:4 . =R_3:16><16><16 — 88x8 3
: - I%2%2
Amﬂ 1 2x2x2
.. Number of Small Spheres =512 1
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40 Sathva Vidhya
— 460 — 480
s B S Xy =
N — 2
X =02 X, =96
,‘.C.V1=i><l{]{] :ﬂxm{} S CV, =5 1
X Q2
2.4 .
SOV, =2 5100 === x100 |~CV;=25 1
TX Q6
C.V,<CV,
. Vidhya is more consistent than Sathya. 1
41 Total number of balls = 5+6+7+8 = 26, n(S) =26 1
(i) white : Number of white balls =6, n|A)=6
% 1
=18 =%=1 P01
(i1) black orred : Number of blackand red balls = & + 5 =13, n(B) = 13
_ nlB 15 _ 1 _ 1
P(B)—%E}Z—E——E P®) = 1 1
(i11) not white
pA)=1-P@A)=1- 3 =133 101 — 10 1
13 (/13 13 |PW=33
(iv) neither white nor black
Number of balls which is neither white nor black balls = 7+5 = 12
n(Cj=12
_mC) _ 12 _ 6 - 6 1
P(cy="%) _ 12 _ 6 | P(C)
© aS) 26 13 13
(x-1)°+(x=-2) " +x-3)°=0
X2 —2Xx+1+ X —4x+4+x —-6x+9=0 1
3x* —12x+14 =10 1
42 a=3,b=-12,c=14 1
A=b®-4ac=144-168=-24 1
A < 0... Equation has no real roots. (Creative) 1
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PART — IV [ MARKS : 16 ]
Answer All the questions. Each questions carries 8 marks 2x8=16
43(a) A
£, 1
. \ /14‘]

04~ N
1 _// Fd
o _/ /./ ',r /
= Som |/ f

B '\{60 Som G ,’} D (o) 7

- /I
\.\.‘ E
(OR)
43(b)
Rough Diagram
ﬂcm.ﬁr
N ; cm
R of Lt H“-P 1
\lcm"-,
+ B

11 cm I||
%

PA=PB=10.2 cm

(or) 10.3 cm

/

-
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44(a)

]
Let y=x"—9x+ 20

]

30)

a0

[
L= 3

[
(¥ ]

+ oo

Ao

17T

L'
el
o

> &

B
<

%

28

\ v

vy

The curve cut the x-axis at the points (4,0) and (5,0)

Solution : {4,5}

The equation has Real and unequal Roots.

4+1
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Let x be the time taken in minutes and y be the distance travelled in km.
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44(b) | Time taken x (in minutes) 60 120 180 240 2
Distance y (in km) 50 100 150 200
(i)Observe that as time increases, the distance also increases. The
variation is a direct variation. It is of the form y = kz.
Constant of variation % — ¥ — 80 _5
xr 60 6
b
6
| T g
i | | et
“Scale . agaal]
| 7 xaxis 1 cm = 30 inlns {
LS T S i i SR i g et ieia b yaxislcm=50km |
{350 : 2+1
L PP B a4
g
% 200 - br
a == .
2l ‘ _~"7(180, 150) ‘
100 48 ldtisi - i ‘
e .~ (120,100)
50 $ I ‘ Bt
5 50 1 Pdb ite |
X1 9 30 60 s 120 150 100 210 240 270 300 330 360 390 |
: Tirme (in- minutes)
vy NI* ]
| s
(i) Constant of variation % — b 1
6
(ii) From the graph, £ =90, then y = 756 km 1
(111) From the graph} Yy = 300 then # = 360 minutes (Dl’) 6 hours. 1
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MARK ANALYSIS

(WITHOUT CHOICE)

PART | Questions | o dions | Ouestions | Quesions | Marks
I 1 Mark 14 12 ya 14
I 2 Marks 14 13 1 28
Il 5 Marks 14 13 1 70
IV | 8 Marks 4 4 - 32
Total Marks 135 9 144
Percentage 93.7% 6.3% 100%
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